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FE=AFNAE-ERERT
Bl 1 9K MF, BAXT E, %K FM 25 P, 1§ MP=MF, % BP, WABMPL/N\CMF, ..BP=CF.

" AD V-3 ZBAC, AD//FM, /BAD=./DAC=/MFC=/AFE=/E=/P,

S AE=AF, BE=BP, | AB+AE=AB+AF=AB+AC-CF=CF,
) 1 1
S CF=Z (AB+AC)= — (T+11)9,

2 D
B3 &R AEMC REEEM =M, &AM, 5iF: AADEL/ABAC...AD=A4B,
N ZDAB=90°.3L"*M }y BD H 5, “.AM 1 DB H DM=BM=AM.
X /S MDE=./MAC=105°,
S AEDML2/ACAM. “.EM=MC, /DME=/AMC ,
. Z/DME+/ EMA=/ AMC + / EMA=90°.
S AEMC NEEBEE M =M.
Bl 4 %K AD & G, i DG=AD, ¥%#: BG.
HAADCLAGDB, 13 AC=BG, AC// BG.
""BE=AC, ..BE=BG, 13 ./BED=./BGD,
. L/ FAE=/BGD=/BED=/ AEF,

i AF=EF.

5 e GEE1, SR
HH B BN FRIE R AABO<L ANACO,
S ZBAO=/CAO=10°, .. ZLABO=/ACO=20°, .. ZAOB=-/A0C=150°.
X BO=BC=CO=AD, ..\ACDL/ACAO,

. LA0C=./CDA=150°, # ~/BDC=30°.
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9.(DAUEAACDL ACBF,
S Z/CAD=./BCF.
N £CAD+ /2 CDG=/BCF+ £ CDG=90°,
S ZCGD=90°, ..AD1CF.
QANACF =M.
10.427R: %EK DB % E, 1§ BE=AB, &% AE, iFMH L E=/C, AC=AE.
11. $#&R: IEBHADCALANECB. ADCMLAECN, £NCM=60°.
12. (D¥E7R: SGiE# £ CEF=ZCFE.
OfF EGLAC T G, iIEMHACEGLABE'D’, W15 CE=BE’, X. CF=CE, BE=CF.
B %
1.2:1 2.110° 3.10 4D
5. $R: ETIWEAIESEU =M ABF, W E. F. CfE—%HZ L.
6.B
7. $r: (D243
(2) 7£ BB' FHUS P, i £/BPC=120°, Fift PB LWLl E i PE=PC, %45 CE. WIHAPCE N0 =¥,
A[f4: PC=CE, /PCE=60°, ./CEB'=120°
“ NACB NIE =¥,
SAME: AACPLABCE.
S ZAPC=/B’EC=120°, PA=EB’.
S ZAPC=/BPC=./CP4=120°, ..P N/\ABC 1%k 5.

S BBt AABC ) P, H BB=EB+PB+PE=PA+PB+PC.
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8. ¥ir: EK AB & M, {f BM=BP, #45 PM, W AB+BP=AM, WM BO=0C.

S AQ+OB=A0+0C=AC, NXHAAMPLANACP 15 AM=AC, ¥ AB+BP=AQ+BQ.
9. #&R: K FM & P, i PM=FM, #4%5 BP, WABMPL/ACMF, AE=AF, BE=BP.
10. #78: 24 D N BC K, W WAAED 5D =W 24D N BCIUWTF A, WAC KR & F, E#
DF, SiE/A\CDF N%ih =, XANADF2AEDC, WiNADE N%5ih=/. 5Ell: 24 D N BC Fifm=
M, AADE WoNZED = .
1. (1) y:—%x+4;

(2) /& CHE CH Ly #F H, iEFI AAOBL ABHC BIT],

(3) Fa i P E3EH 54, 25N (-4 —12),[—4,—2}(4,8),(—4,4),(—4,4) .

12. #: (1) B8, 0);

(2) K a, it A1FASLOBF S, it DAE DT Lx ¥ T.
" AOAB NEEEM =Y,
S OS=AS=BS, FHAASC2ACTD, wf}: AS=CT, SC=TD.
. CT=A4S=0S, ..OT=CS=TD.
.. ZTOD=45°, | 2 A0D=90°;
(3) Zpkor, B r: Wb,
TE AM 3L AS=OF, i# ES, "[IFAEAS2/\EOF, 7]1%: ES=EF, /AES=.OEF
S /SEF=/AEO=90°, .../FEM=/SEM=45°.
Y EM=EM, ..\EFM<AESM, ..FM=SM,

AM —FM

S AM=AS+SM=0OF+FM, ..
OF

1.



